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Which of the following is/are famous for Sun
temples ?

i Arasavalli
2. Amarakantak
3. Omkareshwar

Select the correct answer using the code given

below :

(@) 1only

() 2and 3 only
(e} 1and 3 only

(d) 1,2and3
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rg<{I AEIRATSAT (Urban Observatory) SiT &TeT &1 37 @eRY

AfggFae?

(a) TR ColeHie oY [AfAe=T @AY & 2T &1 39T HIa1
& T U H-FATAS CATH W Rreawor 3t

A 3reg e &I Tt & s aah|

(b) TEHIA AT A& AfaferaT TAET R gT FA &

T 32T 71 39T FIGT B

(c) 3mare 3R e T ITHT FATET E@RT A

FEATOTHRY AISTAT I ThIFd Fla & faT A

(d) 2Tt &7 & waftr &g iy gaft At Y vhiga

4t & faw Hfeae afareT ganrT e

Urban Observatory which was recently in
news. What is this?

(a) Platform that uses data from different sources to
enable analysis and visualization over a
geospatial platform.

(b) Platform that uses data to solve Urban mobility
problem.

(c) Platform by Ministry of Housing and Urban
poverty alleviation to integrate its welfare
scheme

(d) Initiative by cabinet secretariat to integrate all
schemes of centre pertaining to urban area
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Which one among the following is a case of social exclusion ?

(a) An ethnic group demanding exclu-sive rights over a particular territory to the
exclusion of other groups living in that territory

(b) An individual or a group being cut-off from enjoying opportunities open to the
majority of the popula-tion

(c) Homeless people prevented from sleeping on the pavement

(d) An individual or a group volun-tarily excluding itself from participating in a social
festival
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BTl 81 3 ‘ATl TalogRlel Taki & UT| T
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(a’) I8 Toh 0F S T AR faqwarst &
aREcT 8, ST 38eh 3MTed e are H
STTAsgTeRT foh3 1T AT §EI&TT & SHROT
grargl

(b) TG TSR AT GEARTT oh SHROT TATOT
$1 faAwan3it #F aRad g1

(c) TE HITeT ITE o AFHS ST H TR g, ollieh 38
SiaeT AT IATIT ST Toh |

(d) TE G oh AFHSS F IRecTel U1 8
IRUTHATERY 3ol W X THG & Garad
gl

Recently Volition evolution was in news. It refers to:

(a) It is changes in the physical characteristics of an
organism caused by deliberate human
intervention in its genetic makeup

(b) It is changes in the characteristics of
Enviournment caused by deliberate human
intervention.

(c) It is change in Mars atmosphere so that it can be
made liveable.

(d) It is change in earths atmosphere and
consequent impact on Ozone layer
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(a) 13R2

(b) hae 2

(c) 234

(d) 1,334

Consider the following statements :

Human capital formation as a concept is |
better explained in terms of a process which
enables

1.  individuals of a country to accumulate
more capital.

2.  increasing the knowledge, skill levels
and capacities of the people of the

country.
3. accumulation of tangible wealth.

4.  accumulation of intangible wealth.

Which of the statements given above is/are
correct ?

(a) land?2
(b) 2 only
(c) 2and4

(d) 1,3 and4
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T Freafafaa In the context of any country, which one
Miﬁéﬂ%mﬁ’ AR of the following would be considered as

2:’;'@ ?ﬂ(@fﬂa#ﬁm)%m% part of its social capital?
S fa) The proportion ‘of literates in the

() SFEEN T WEt F U@ population
_ (b) The stock of its buildings, other
(b) WF W, S s wem sh infrastructure and machines '
YA 1 =i R
{¢) The size of population mn the
(c) e Sy Wg & S 5 AE working age group

e : (d) The level of mutual trust and
i TR SR A TR - harmony in the society
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1. 1A JfgShR &7 IRTET & 1Y HROT 3R 39
arelT Ga g

2. Teh THE I AT Y AR TR 3Tl AR
faeredt 3R Trehfdeh 3Taer3it & SRTeT gt arel
ST & I ES &

3RNFd HYUAT H T -1 T HAT T ¢/ &
(a) hdeT 1

(b)hdel 2

(c) 1 3R 2 gt

(d)yTar13iRaT&r2

Which of the following statements related to the concept of
social vulnerability is/are correct?

1. Social exclusion has both cause and effect relationship with
poverty.

2. Vulnerability of a group is directly linked with the job
alternatives available and risks being faced during natural
calamities.

Select correct answer from below given options:
(a) 1 Only

(b) 2 Only

(c) Both1and?2

(d) Neither 1 nor 2
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1. wafta arafiemar [@ims RafeR (AR))
3w oa gaEe gha B s R ik
wiifee THR g e afsda R IR

2. sl arafaww [Egaa RefaR (VR))
# w1 g wiomd arafds e

- i g a1 wia w vala 8 b §)

3. AR gt 9 dEr § fomm @ 2o R
3R TE-%H 91 PC % $W &1 3@ 9
IV I I A R

4. VR HaR H 99§ H 3@ § IR =i A
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(@) Fa@ 1 3R 2

(b) 334

¢ 1,233

(d) F9a 4

In the context of digital technologies for
entertainment, consider the following
statements :

1.

In Augmented Reality {AR), a
simulated environment is created
and the ©physical world is
completely shut out.

In Virtual Reality (VR), images
generated from a computer are
projected onto real-life objects or
surroundings.

AR allows individuals to be present
in the world and improves the
experience using the camera of
smart-phone or PC.

VR closes the world, and
transposes an individual, providing
complete immersion experience.

Which of the statements given above
is/are correct?

(a)

1 and 2 only

(b} 3 and 4

(c)

1,2 and 3

(d) 4 only
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. SAMARTH is a flagship skill development
SAMARTH (Hqﬁ-), frfafaa @ 4 frm HAT®A scheme of which one of the following

=l Uh 9@ hive fawmm =Hm 2 2 Ministries ?

(a) I HAH (a) Ministry of Textiles

(b) Y @ FFam Feamr T (b) Ministry of Agriculture and Farmers
Welfare

(c) i faerd i Samsfiear wares

@ THE qEeH faem wEe (¢) Ministry of Skill Development and

Entrepreneurship

(d) Ministry of Human Resource

Development
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A 9 WA 138 Ud 182 ihrgwy
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(a) =7 5H

(b) Ff¥ % FhHi =1 Aaw Feraryg vhad @
HIeH

(e) Eﬁ]ﬁqﬁ@m-ﬂtmﬂﬁﬁm?
(d) wrEEgE W o g

International Labour Organization’s
Conventions 138 and 182 are related to

(a) Child labour

(b) Adaptation of agricultural practices to

global climate change

(¢) Regulation of food prices and food

security

(d) Gender parity at the workplace
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fafafea w91 4 9 9 “sEq s Which of the following statements best
{EI-Tlﬂq ':sﬁa'rgﬁm:[} #1 garaw afta @ % 0 deseribes “carbon fertilization™ ?

f - (a) Increased plant growth due to increased

(a) ”_Hl S STEHIFHIES #I Ll _§.§ concentration of carbon dioxide in the
Higdl & FR 9¢1 8% 69 9fg atmosphere

(b) AGHVSE W A SEIATFEES I TG ES (b) Increased temperature of Earth due to
H’iﬁﬂT &+ FHU Eﬁﬁ 1 FG1 §AT AIEH increased concentration of carbon

dioxide in the atmosphere

(c) E ﬁ els E aﬁT ﬁ gﬁ {¢) Increased acidity of oceans as a result of
Higdl a; qﬁm—mﬁm Wfﬁ Eﬁ a_‘iﬁ ﬁé increased concentration of carbon

AT dioxide in the atmosphere
T N N B . o i sans evedtt heck 1
Higdl % g §T Felary UNEdd % ATEy i YR, y

the increased concentration of earbon
dioxide in the atmosphere

gt o wHi SfaafeEt 1 sHEeE



117. g1 = g1 % @y gafm $ifm i 117. Match List-1 with List-Il and select the

'@ﬁ%ﬁﬁﬂﬂ'ﬁﬂm‘ﬂwﬂm correct answer using the code given
_ﬁﬁﬂ! below the Lists :
List-I List-IT
-1 -1 (Market (Characteristic)
(ST Hr=) (Ferdream) s
A pisfEfm 1. o (ag) 9 feh Fa A. Perfect 1. Only one producer
TF IEEF m e M competition selling one commodity
B. Monopoly 2. Few producers selling
B. e 2. -Hl W WE: weey o T Dagpie
(veritrges) mﬁ sl 35 IS Besaicy
i _— C. Monopolistic 3. Many producers selling
C. Wﬁiﬁ‘l 3. faifem sl 4 ek g~ competition differentiated products
eI A Searel g e s D. Oligopoly 4. Many producers selling
D. seaifosr 4. UH-3% 3w i fish wga- similar products
(=ifemimatet) ¥ el T R s e
. fa) A B 5 D
fal A B C D 4 1 2
4 3 1 2
VR IS - T, R B AG Bie T D
4 1 3 2 4 1 3 2
e} A B B D fe) A B C D
AR A o g8 a4
A Bt B
2 3 1 4

(d) A
2

w m
el P
+ O



Fer Afrft, Mfaied, famsh qo e &
Sfet ot 3 smafit 4 o9 wmg % fo @,
qgT 9 H41E g % wee i faffea gr 1 3 9

(a) a1fae 9w
b fafm == o=
(¢c) <Al &=9d TUF

(d) Widiele 48%

He wrote biographies of Mazzini, Garibaldi,
Shivaji and Shrikrishna; stayed in America
for some time; and was also elected to the

Central Assembly. He was

(a) Aurobindo Ghosh

(b) Ripin Chandra Pal

(¢) Lala Lajpat Rai

(d) Motilal Nehru
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T B g ¥ et o Consider the following statements about
a1 m 3, T Stone Age in India :
fo=m Hifs

1. Different periods are identified

1. faft@= i =t geer & el % wehr 3R on the basis of the type and

Trcufasm™ & R 9 gg=H ST ) technology of stone tools.
2. fafim it ¥ siw oWl ¥ wwr afg 2. There are no regional variations in
Rreafagm § 1€ aefig fafmm 78 21 the type and technology of tools in

different periods.

3. fafim Tﬂ # n “Eg;ﬁ! tﬁ 3. Stone Age cultures of different
e A U Afufia uwdim @ @ periods evolved uniformly in a neat

THaaHE awie §'§| unilinear fashion all over the
subcontinent.
i A8 aﬁq-m/ﬁwqa%/ & Which of the statements given above
(a) +ad 1 is/are correct?
(b) Faa 1 3R 2 6 o
1 d 2 onl
(c) +ad 3 W RSy

(c) 3 only

(d 1,23R3 d 1,2 and 3
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ShTdeT Tsh ehl AToleh TTshaT AT T@d 7 & hieT AT Which of the following is/are a process that drives the

g/8? carbon cycle?
1. YepT2T FoIHUT 1. Photosynthesis
2. IR 2THT 2. Cellular respiration
3. 3TAATRIOT 3. Ammonification
4. 39Yced 4. Decomposition
AT ST 31T IS T 3TATT hleh gl 3 go:i: Select the correct answer using the code given below:
(a)aTCIT*H}ﬁT4 (a) 1 and 4 only
(b)W1,23-ﬁT4 (b) 1, 2 and 4 only
(c) hael 1 31X 3 (c) 1 and 3 only

(d) Shael 2, 3 37T 4 (d) 2,3 and 4 only



vaTdt WRdE @ |/ g ¥, Fefafae § @ Overseas Indians can exercise franchise
Torm /o aftfefa(al) & H?ITR;EFI'{ WA H in an election to the Lok Sabha under

which of the following conditions?

Hhd 87
1. They must be citizens of India.
1. 9 9w & WRa & T g
2. Their names must figure in the
2. I T Fates TmmEeh § e #@) clectosil il
3. EI‘IZ Elaa %i m d ﬁ 'a Y 31:[@_(1 3. They mupt be present in India to
7 vote.
EiE| ﬁq T F2 H AT W TR TN §ﬁ1ll Sf:lect the correct answer using the code
given below.
(@ 1,233
(@ 1,2 and 3
®) 2 3 3 (b) 2 and 3 only
(c) e 1 3R 2 (c) 1 and 2 only

(d) ¥4 1 (d) 1 only
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